Chapter 9

e Two samples (of sizes ny and ny which are large enough for the normal approx-
imation) with expectations jy, ps and variances o}

2 02. (1 — ) confidence interval
for py — po.
If 0%, 05 are known, then
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(S is the pooled empirical variance)

If 07, 03 are unknown and unequal then
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where m is the nearest integer to
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e Paired data.

X1, Xo, ... X, EX; = pux (X; = px + €1),

Y17)/é7 "’JY'I’H E}/Z = fy (}/7, = Ky + €2i)'

X-s are independent, Y-s are independent but X; og Y; are dependent for each i
(1 — ) confidence interval for pxy — py
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Thus from two samples to one sample.



